=3

AR

1818

NX 2630
2630 . 2630 2630 . 2630
T T
65 | 5X500=2500 130 2500 2500 130 5X500=2500 65
"
CI;
s
Am
m*l\
—t N
O
"
CI;
o
e
L A
4 g
_f>
AREOSB[EO AWEOSHEO =
100 48 2342 481 |48 2342 2342 L8| |48 2342 48 100
192 192
NX 2630+8
NX 2630+160
80 NX 2630 80
i i J
-
VERXS /
VGL /

XEEDOBRL ERRISCTHRAE - TMARNDELLHGEENHYFET,

o 8B % % MR (ME) B{imm
1 TER F12 1.2
2 | #HEiEs F12 2.3
3 | P F12 1.6
L | #9Es F12 12416
5 | #gES F12 16
6 | FEYP F12 1.2+1.6
T | RPRBNEE F12 3.2
8 | t1El Y10 1.6
9 | Hi Y10 16
10 | k48 Y10 1.0
1 | Rl F12 2.0+3.2
12 | ok F12 2.0+3.2
13 | RPERIR Y10 1.0
14 | FHRAN- F12 2.3
15 | BpHhnN-— Y10 0.7
16 | BEFR F12 1.6
17 | B8Bd F12 1.2
18 | BRIV Y10 05
19 | BEGEM FHB)RE- | RUIFLY24—4 40
20 | BRIV F12 0.6
21 | EREE Y10 0.7
22 | 8RRI% Y10 0.7
23 | O-Fr—%& F12 2.3
2L | Vv a—(XSv k) 708 0.5
25 | D+ v F-AN— F12 0.7
26 | vy e—L—)b FIVIZDABEREIM
F12->5Rt@E N - HIR (JIS G 3302)
Y10~ BRER-S%7IVIZDAAED > @RS 6 3317)
208~ 2K Bmdhn o SR (JIS G 3312)

2360

6555

~ 140 6275 140
Na)

_J\ 1000

= ]
A
=
QA >
1| = 2
&

N

AR

HIES

<HsR> S=1/60

~ — IEEEN

GRN—2662SL

OB B0 ~t3%:2342 % 1818(mm)

OFRmERENLES ] x 16.50m(5.001F)

2% 5 4 fE PR



